run_13039140 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Feb 8 11:47:23 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

i i i i
< 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

-500

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

1000 [+ 2 : o0o505305000050505505db005052050300095053550 e eenas

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500 [+

1000 f+

-500

500 |-

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13039140 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
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run_13039140 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Wed Feb 8 11:47:24 2012
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run_13039140 FGT_RMS_ 1,Timebin=2,Disc=1,asmb=1DA
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run_13039140 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13039140 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
Wed Feb 8 11:48:01 2012
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run_13039140 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
Wed Feb 8 11:47:27 2012
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run_13039140 FGT_RMS 1, Timebin=2,Disc=1,asmb=1AB
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run_13039140 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13039140 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13039140 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13039140 FGT_RMS_ 1,Timebin=2,Disc=4,asmb=4DA
Wed Feb 8 11:48:10 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13039140 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Wed Feb 8 11:41:52 2012

[ADC for FGT RDO=1,ARM=3,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=6 }

I
3000 4000
raw ADC

1 i
0 1000 2000

[ADC for FGT RDO=1LARM=3,APV=7 }

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=3,APV=8 }

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=9 }

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=1,ARM=3,APV=5

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=1,ARM=3,APV=6

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L L N LD LA i il

[ ADC for FGT RDO=1,ARM=3,APV=7

4000

" 1
40 60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=3,APV=8

40 60 80 100 120

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

N
I

[ ADC for FGT RDO=1,ARM=3,APV=9

40 60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AT A A A

APV channel

.. .0 L . R

10

10°

10

10°

10°
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run_13039140 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13039140 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Wed Feb 8 11:48:14 2012
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run_13039140 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13039140 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13039140 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Feb 8 11:48:16 2012
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run_13039140 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Wed Feb 8 11:43:42 2012
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run_13039140 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Wed Feb 8 11:47:43 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13039140 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Wed Feb 8 11:48:17 2012
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run_13039140 FGT_ADC _1,Timebin=2,Disc=1,asmb=1CD
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run_13039140 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13039140 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC
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